	网考模拟卷之一

	 
	模拟题一Test 1

一、交际用语（1’*10）1-5 BACBB              6-10 ADADB
1.  How are you, Bob?   _______________ Ted.

A. How are you?                        B. I’m fine. Thank you.
C. How do you do?                      D. Nice to meet you.

---你好吗，鲍勃？---我很好，特德。

2.  Thank you for your help._________________

A. My pleasure.                         B. Never mind

C. Quite right.                           D. Don’t thank me.

---谢谢你的帮忙。---我很荣幸。

3.  Hello, I’m Harry Potter.Hello, my name is Charles Green, but_______.

A. call my Charles.                      B. call me at Charles.

C. call me Charles.                      D. call Charles me.

---你好，我是哈里﹒波特。---你好，我是查理﹒格林，你可以叫我查理。

4.  Paul, ______________ ?   Oh, that’s my father! And beside him, my mother.

A. What is the person over there

B. Who’s talking over there
C.      What are they doing

D.     Which is that

---鲍，那边在说话的人是谁？---哦，那是我的爸爸，在他旁边的是我妈妈。

5.        Hi, Tom, how is everything with you?_______________, and how are you?

A. Don’t mention it.                      B. Hm, not too bad.
C. Thanks.                              D. Pretty fast.

---你好，汤姆，近来都好吗？---还不错，你呢?

6.  That’s a beautiful dress you have on!__________

A. Oh, thanks. I got it yesterday.            B. Sorry, it’s too cheap.

C. You can have it.                       D. See you later.

---你穿的这件裙子很漂亮。---噢，谢谢，我昨天买的。

7.  Why didn’t you come to my birthday party yesterday?   _____________  

A.      Excuse me, my friend sent me a flower.

B.      Fine, I never go to birthday parties.

C.      Ha…ha, I don’t like birthday parties.

D. Sorry, but my wife had a car accident.
---昨天你为什么不来参加我的生日晚会？---不好意思，我太太出了个交通事故。

8.        Hi, welcome back! Had a nice trip?________________

A. Oh, fantastic! Fresh air, and sunshine every day.
B. Come on, I’ve got lots of fun.

C. By the way, I don’t like Saturdays.

D. Well, I’ll look forward to your phone call.

---欢迎回来，旅行还不错吧？---噢，太棒了！每天都有新鲜的空气和温暖的阳光。

9.        Haven’t seen you for ages! What are you busy doing now?________________

A.      I hate the weather here.

B.      My hair is getting a bit longer.

C.      Yeah, thanks for coming.]

D. I am working part time in a bookshop, you know.
---好几年不见了，最近都在忙什么呢？---我现在在一家书店兼职。

10.    Marilyn, I’m afraid I have to be leaving now._______________

A. That sounds wonderful.                B. Oh, so early.
C. Not at all.                           D. Good luck!

---玛琳，我恐怕现在不得不走了。---噢，那么早？

二、阅读理解（2’*15）11-15 CBDDD            16-20 BBBDB            21-25 DBDAC
Passage 1
The French Revolution broke out in 1789. At the time France was in a crisis. The government was badly run and people’s lives were miserable. King Louis XIV tried to control the national parliament and raise more taxes. But his effort failed. He ordered his troops to Versailles. The people thought that Louis intended to put down the Revolution by force. On July 14,1789, they stormed and took the Bastille, where political prisoners were kept. Ever since that day, July 14 has been the French National Day. Louis tried to flee the country in 1792 to get support from Austria and Prussia. However, he was caught and put in prison. In September 1792, the monarchy was abolished. In the same year, Louis was executed. A few months later his wife, Marie also had her head cut off. The Revolution of France had frightened the other kings of Europe. Armies from Austria and Prussia began to march against France. The French raised republican armies to defend the nation. The Revolution went through a period of terror. Thousands of people lost their lives. In the end, power passed to Napoleon Bonaparte. (190 words)

法国大革命于1789年爆发。当时法国正处在一片混乱中，政府腐败，人民生活凄惨。路易十六世企图控制议会并增加赋税，但最后失败了。他命令军队进入凡尔赛。人民都认为他企图用武力镇压革命。1789年7月14日，人民群众爆发了，攻占了关押政治犯的巴士底狱。从那天以后，7月14日就被定为法国的国庆日。1792年，路易十六企图逃离法国，并从奥地利和普鲁士获得支持，但他被捕了。1792年王室被废除，路易十六被处以死刑。几个月后，他的妻子，玛丽也被处以死刑。法国大革命令欧洲其它国家的国王感到害怕。奥地利和普鲁士的军队进入了法国。法国人民组织起了共和军来保卫祖国，革命陷入了一个艰苦阶段。成千上万的人牺牲了。最后，权力落入了拿破仑﹒波拿巴手中。

11. What’s this passage about? 这篇文章主要讲了什么？

   A. France.                           B. King Louis.

   C. The French Revolution.              D. Europe.

法国大革命

12. Which did not happen in 1789? 以下那件事不是发生在1789年？

   A. The French Revolution broke out.

   B. The national economy was developing rapidly.
   C. The government wasn’t well run.

   D. King Louis XIV was in power.

国家经济快速发展。

13. Where were the political prisoners kept? 那些政治犯被关押在哪里？

   A. In Versailles.   B. In Austria         C. In Prussia.      D. In Bastille.
巴士底狱

14. What does the underlined word “abolished ” mean? 划了下划线的“abolished ”这个词是什么意思？

   A. Put off.                          B. Established.

   C. United.                          D. Ended.
废除。

15. What was NOT the effect of the Revolution? 以下那个不是法国大革命产生的效果？

   A. July 14 has become the French National Day.

   B. It brought some impact on the other European kings.

   C. Louis’s wife, Marie was killed.

   D. The king tried to control the national parliament.
国王试图控制议会。

Passage 2
In the United States, it is not customary to telephone someone very early in the morning. If you telephone him early in the day, while he is shaving or having breakfast, the time of the call shows that the matter is very important and requires immediate attention. The same meaning is attached to telephone calls made after 11:00 p.m.. If someone receives a call during sleeping hours, he assumes it's a matter of life or death. The time chosen for the call communicates its importance.
In social life, time plays a very important part. In the U.S.A. guests tend to feel they are not highly regarded if the invitation to a dinner party is extended only three or four days before the party date. But it is not true in all countries. In other areas of the world, it may be considered foolish to make an appointment too far in advance because plans which are made for a date more than a week away tend to be forgotten. The meaning of time differs in different parts of the world. Thus, misunderstandings arise between people from cultures that treat time differently. Promptness is valued highly in American life, for example. If people are not prompt, they may be regarded as impolite or not fully responsible. In the U.S. no one would think of keeping a business associate waiting for an hour, it would be too impolite. A person who is 5 minutes late, he will say a few words of explanation, though perhaps he will not complete the sentence.(260 words)

   在美国，一般不习惯每天很早打电话给某个人。如果你很早打电话给他，在他刮胡子或吃早饭的时候，那就说明这件事情非常重要，需要立刻处理。晚上十一点以后打电话也是同样的意思。如果一个人在睡觉的时候接到电话，那他肯定觉得这是一件事关生死的大事。打电话的时间也显示事情的重要程度。在社会生活中，时间是一个非常重要的角色。在美国，如果在宴会三四天前才受到邀请，那受邀者就会认为自己不是很受重视。但并不是在所有的国家都如此。在世界上的其它地方，提前很多时候做约定被认为是很愚蠢的，因为约好一个星期以后的事情很容易忘记。所以时间的意义在不同的地方是不一样的。因此，来自不同文化背景的人之间就会产生误会。举个例子，准时在美国社会是受到高度认可的。如果某些人不准时，就会被认为不礼貌或不够负责任。在美国，没有一个人会把一次商务活动和等待一小时联系起来，这太不礼貌了。一个人如果迟到五分钟，就要作出解释，也许这还不够。

16. What is the main idea of this passage?______________ 以下哪项表达了本文的中心思想？

A. It is not customary to telephone someone in the morning and in sleeping hours in the U.S.

B. The role of time in social life over the world.
C. If people are not prompt, they may be regarded as impolite or not fully responsible in the U.S.

D. Not every country treats the concept of time as the same.

世界各地时间在社会生活中扮演的角色。

17. What does it mean in the passage if you call someone during his or her sleeping hours?

________________ 根据本文，如果你在某人睡觉时间打电话给他，意味着什么？

A. A matter of work.

B. A matter of life or death.
C. You want to see him or her.

D. You want to make an appointment with him or her.

这是一件事关生死的大事

18. Which of the following time is proper if you want to make an appointment with your friend? 如果你想约你的朋友，以下哪个时间是比较恰当的？

   A. at 7:00 am    B. at 4:00 pm        C. at the night    D. at 4:00 am

下午4点。

19. Which of the following statement is true according to the passage?

根据本文，以下哪项陈述是正确的？

   A. In the U.S.A. guests tend to feel they are highly regarded if the invitation to a dinner party is extended only three or four days before the party date.

   B. There is no misunderstanding arising between people form different cultures about the concept of time.

   C. It may be considered foolish to make an appointment well in advance in the U.S.A.

   D. Promptness is valued highly in American life.
准时在美国社会是受到高度认可的。

20. From the passage we can safely infer that ________________ 从本文我们可以得出

   A. it’s a matter of life or death if you call someone in the day time.

   B. the meaning of time differs in different parts of the world.
   C. it makes no difference in the U.S. whether you are early or late for a business party.

   D. if a person is late for a date, he needn’t make some explanation.

  世界各地的时间观念是不同的。

Passage 3
A foreigner's first impression of the U.S. is likely to be that everyone is in a rush-often under pressure. City people always appear to be hurrying to get where they are going restlessly, seeking attention in a store, and elbowing others as they try to complete their errands(任务). Racing through daytime meals is part of the pace of life in this country.

一个外国人对于美国的第一印象很有可能是每个人都在压力下匆匆忙忙。城市里的人总是表现得匆匆忙忙不知疲倦的，为了尽快做完一件事情，他们会在店里拼命引起店员的注意或者用胳膊肘推搡别人。白天匆忙就餐也是这个国家生活节奏的一个部分。

Working time is considered precious. Others in public eating places are waiting for you to finish so that they too can be served and get back to work within the time allowed. Each person hurries to make room for the next person. If you don’t, waiters will hurry you.

工作时间被认为是很珍贵的。在一些公共饮食场所，其他人会等在你旁边等你吃完，这样大家都可以得到服务，并赶在规定的时间内回去工作。每个人都会尽快给下一个人腾出地方。如果你不这样，侍者会催促你的。

You also find drivers will be abrupt and people will push past you. You will miss smiles, brief conversations, and small courtesies with strangers. Don't take it personally. This is because people value time highly, and they resent someone else "wasting" it beyond a certain courtesy point.

你会发现司机也都很匆忙，人们从你身边匆匆走过。你会错过一些微笑，简短的交谈和一些与陌生人的小礼节。不要在意，这是因为他们非常珍惜时间，而且他们认为一旦太注重这些社交礼节就是浪费时间。

The view of time affects the importance we attach to patience. In the American system of values, patience is not a high priority. Many of us have what might be called “a short fuse.” We begin to move restlessly about if we feel time is slipping away without some re-turnbe this in terms of pleasure, work value, or rest. Those coming from lands where time is looked upon differently may find this matter of pace to be one of their most difficult adjustments in both business and daily life.

对时间的观念还会影响到我们对耐心的理解。在美国价值体系中，耐心并不是首要要考虑的。我们中的很多人被称为”短保险丝”。如果我们觉得时间在毫无意义的溜走，既没有娱乐价值，工作价值，也不在休息，那就会开始不停地徘徊。那些来自时间观念不同的国家的人发现他们在商业和日常生活中最困难的就是对时间节奏的适应。

    Many newcomers to the States will miss the opening courtesy of a business call, for example, They will miss the ritual interaction that goes with a welcoming cup of tea or coffee that may be a convention in their own country. They may miss leisurely business chats in a café or coffee house. Normally, Americans do not assess their visitors in such relaxed surroundings over prolonged small talks. We seek out evidence of past performance rather than evaluate a business colleague through social courtesies. Since we generally assess and probe professionally rather than socially, we start talking business very quickly.(348 words)

许多刚到美国来的人都会想念他们在商业会谈中一些开场礼节。举个例子，他们会想念因欢迎你到来而泡的一杯茶或咖啡这样的社交礼仪，这在他们国家是常规礼仪。他们会想念在咖啡屋悠闲的会谈。而通常，美国人不会与来访者在这么悠闲的环境中进行一些冗长的小会谈。对于同事，我们总是看他过去的表现而不是与他的社交礼仪。因为我们一般都是更注重专业性的，而不是社交性的，因此我们总是很快进入正题。

21. Which of the following statements is wrong? _________ 以下哪项陈述是错误的？

   A. Americans seem to be always under pressure.

   B. Americans attach less importance to patience.

   C. Americans don’t care much about ritual socializing.

   D. Americans are impolite to their business colleagues.
美国人对他们的同事不礼貌。

22. In the fourth paragraph, “a high priority” means _________ 第四段中的“a high priority”是什么意思？

   A. a less important thing           B. a first concern
   C. a good business                D. an attractive gift

要首要考虑的。

23. Americans evaluate a business colleague ___________ 美国人评价他们的同事是根据 

   A. through social courtesy

   B. through prolonged business talks

   C. by establishing business relations

   D. by learning about their past performance
他们过去的表现。

24. This passage mainly talks about ___________ 本文主要讲了         
   A. how Americans treasure their time
   B. how busy Americans are every day

   C. how Americans do business with foreigners

   D. what American way of life is like

美国人是怎样珍惜时间的。

25. We can infer from the passage that the author’s tone in writing is _______________ 从本文我们可以看出作者写作的口吻是          
    A. critical     B. ironical       C. appreciative     D. objective

欣赏的。

三、词汇与结构（1’*20）26-30 BAADC            31-35 CBAAC            36-40 BCCDC            41-45 DABCD
26. Professor Smith promised to look ________ my paper, that is, to read it carefully before the defence.

   A. after        B. over        C. on       D. into

史密斯教授已经答应帮我看一下我的论文，这就是说要在答辩前在仔细看一下。

27. Our house is about a mile from the railway station and there are not many houses __________

   A. in between                 B. far apart

   C. among them                 D. from each other

我们家离火车站大概一英里左右，而且中间房子不多。

28. As the bus came round the corner, it ran ________ a big tree by the roadside.

   A. into        B. on           C. over      D. up

汽车开到转角时撞到了路边的一棵大树。

29. On average, a successful lawyer has to talk to several ________ a day.

   A. customers   B. supporters     C. guests    D. clients
一般一个成功的律师一天要接待好几个客人。

30. What is the train ___________ to Birmingham?

   A. fee         B. trip          C. fare      D. cost

到伯明翰的火车票多少钱？

31. The student were all entertained in a Mexican restaurant, at Professor Brian’s ________

   A. money      B. pay          C. expense   D. loss

布朗教授在一家墨西哥餐厅请学生吃饭。

32. Tom, what did you do with my documents? I have never seen such a ________ and disorder!

   A. mass       B. mess        C. guess     D. bus

汤姆，你拿你的文件在干什么？我从来没见到这么乱过。

33. If she wants to stay thin, she must make a __________ in her diet.

   A. change    B turn           C. run      D. go

如果她想保持身材苗条，就必须在饮食有所改变。

34. _________ the War of Independence, the United States was an English colony.

   A. Before     B. At            C. In       D. Between

在独立战争以前，美国时英国的一个殖民地。

35. You shouldn’t ________ your time like that, Bob; you have to finish your school work tonight.

   A. cut        B. do            C. kill     D. kick

鲍勃，你不该那样浪费时间；你今晚得完成学校得作业。

36. When Lily came home at 5 pm yesterday, her mother ______dinner in the kitchen.

   A. cooked     B. was cooking     C. cooks    D. has cooked

莉莉昨天五点钟回家时，她妈妈正在厨房里做晚饭。

37. Did you notice the guy _________head looked like a big potato?

   A. who       B. which          C. whose   D. whom

你注意到那个头看上去像个大土豆得家伙吗？

38. Both the kids and their parents __________English, I think. I know it from their accent.

   A. is         B. been           C. are     D. was

我想，这些孩子和他们的父母都是英格兰人。从他们的口音我可以知道。

39. Never before _________ see such a terrible car accident on the road!

   A. I have     B. have I          C. I did     D did I
我从来没有看到过这么恐怖的一起交通事故。

40. John’s father _________ mathematics in this school ever since he graduated from Harvard University.

   A. taught     B. teaches         C. has taught  D. is teaching

约翰的爸爸从哈佛大学毕业后就一直在这所学校里教数学。

41. Every year thousands of lives ________ in road accidents because of careless driving.

   A. lose       B. lost            C. have lost    D. are lost
每年都有数以千计的人因为不小心驾驶而在车祸中丧身。

42. The young lady coming over to us _______ out English teacher; the way she walks tells us that!

   A. must be   B. can be        C. would be     D. could be

那个正朝我们走来的年轻女子肯定是我们的英语老师；她走路的样子就告诉我们了。

43. Had you come five minutes earlier, you _________ the train to Birmingham. But now you missed it.

    A. would catch   B. would have caught   C. could catch    D. should catch

要是你早来五分钟，你就能赶上那班去伯明翰的火车了。但现在你错过了。

44.  Eggs, though rich in nourishments, have ________ of fat.

    A. a large number                   B. the large number

    C. a large number                  D. the large number

尽管鸡蛋营养丰富，但它含有大量的脂肪。

45. No matter _________, the little sisters managed to round the sheep up and drive them back home safely.

   A. it was snowing                    B. hard it was snowing

   C. how it was snowing hard            D. how hard it was snowing
不管雪下的多大，两个小姐妹还是安全地把羊拢起来赶回了家。

四、完形填空（1’*10）46-50 BBCCD  51-55 BABDA
There were once three sons of a wealthy businessman. ___46  they met, the two eldest, who were twins, __47__to quarrel about which of them should be his father's heir（继承人）. The youngest, who was not __48___ambitious（野心勃勃的）, took no part in their arguments. As soon as they left home, the father arranged for an adequate income to be provided for __49___of them, but insisted that apart from this they were to be financially self-supporting. The __50___twin, who had the advantage of good looks and a striking personality, decided that he would take up the stage __51__ a career. He __52    a small repertory company, acted in minor parts, was invariably unpunctual at rehearsals and was accordingly __53____with his fellow-actors. He earned little and so had to live mainly on his allowance. He occasionally thought of ___54____ his profession, but always put off ___55___ a decision, and he became increasingly bored and disillusioned.

从前有个富商，他有三个儿子。无论他们合适遇到，两个大的，也就是一对双胞胎，都要为谁是他们父亲的继承人而争吵。而最小的一个，没有丝毫的野心，从不加入他们的争吵中。就在他们要出去找工作时，他们的父亲为他们每个人提供了一笔足够的收入，但除此以外，必须经济独立。双胞胎中的老大，因为相貌出众且个性鲜明，决定当演员。他加入了一个小型的戏剧公司，担任了一些小角色，但他排练总时不准时，同事们因此都不喜欢他。他挣的钱很少，所以主要靠他父亲给他的钱生活。他偶尔会想要换个工作，但总是下不了决心，因此变得越来越烦躁，越来越迷茫。

46. A. whatever      B. whenever           C. wherever           D. however

47. A. are used       B. used              C. using              D. are using

48. A. at least        B. at most             C. in the least         D. in the most

49. A. every         B. all                 C. each             D. none

50. A. first          B. older               C. young             D. elder
51. A. is            B. as                C. be                 D. /

52. A. joined       B. attended             C. went              D. joined in

53. A. popular       B. unpopular            C. welcome          D. unwelcome

54. A. living        B. turning              C. ending             D. changing
55. A. making       B. make               C. decide             D. deciding

五、英译汉（15’）

56. Wang Li’s father has taught English here since he graduated from Peking University.

王丽的父亲从北京大学毕业后就一直在这里教英语。

57. Please give this book to whoever comes first.

请把这本书给最先来的人。

58. Though it was late, they kept on working.

尽管已经很晚了，他们还在继续工作。

59. Bill hit his car into a wall last night.

昨晚比尔开车时撞到了墙上。

60. Would you please help me with this heavy box?

你能帮我抬一下这个很沉的箱子吗？

六、写作（15’）

                                Sports

a)         你喜欢什么运动

b)        你如何喜欢上这项运动

c)        运动对你有什么好处（工作、学习和生活）

Sports

Just as lots of teenagers take to pop music, I love basketball. It’s part of my life. I began to play basketball in my childhood. I still remember the good old days when I played with my classmates after school. Later on, as I grew up, almost everything changed, but this sport—playing basketball remained and my love of it grew even stronger.

I love this sport because it brings joys and health to my life. When I got tired from office work, I went to the sports ground and felt refreshed. If there were worries and cares from daily life, I went to the sports ground. There everything went away except basketball. It is basketball that keeps me in good shape and mood.

就像很多年轻人喜欢流行音乐一样，我喜欢篮球。这是我生活的一部分。我从孩提时代开始就打篮球了。我至今仍记得那些放学后和同学一起打球的旧日好时光。后来，当我慢慢长大，几乎所有的事情都改变了，除了篮球这项运动，它仍然是我的所爱，而且我对它的爱与日俱增。

我喜欢这项运动是因为它给我的生活带来欢乐和健康。当我厌倦了办公室工作，我来到运动场并感到精力很快恢复了。如果日常生活给我带来了烦恼和顾虑，我来到运动场。在那里，除了篮球，所有的一切都离我远去。是篮球让我保持了好心情和好体型。

大学英语B模拟一
第一部分：英语知识运用（共10小题；每小题2分，满分20分）
此部分共有10个未完成的对话，针对每个对话中未完成的部分有4个选项，请你从A、B、C、D四个选项中，选出可以填入空白处的最佳选项，并用铅笔将答题卡上的相应字母涂黑。示例[A] [B] [▆] [D]
1.― Where have you been lately?

― _________________.
A. I’ve been to Shanghai on business B. I’ve a lot of work to do
C. Everything is fine D. Yes, I haven’t seen you either
2. ― Hello. How is everything?
― _________________.
A. Nothing much B.Fine, thanks. How about you? C.I’m pleased to meet you D. I’m fine, thanks
3. ― How often is there a flight to Paris?
― _________________.
A. Do you have your passport with you? B. There’s nonstop flights.
C. It will leave at 10. D. We have flights to Paris every hour
4. ― Hi! George. How are you?
― _________________.
A. That’s all right. B. Don’t mention it. C. How are you? D. Fine, thanks. And you?
5. ― Sorry, I didn’t catch what you said.
― ________________.
A. That’s fine. B. Don’t say it again B. I said I was arried. D. It’s a pity, isn’t it?
6. ― Excuse me, how can I get to the nearest subway station?
― ________________.
A. It’s two blocks up this street. B. Yes. You are going the wrong way.
C. Don’t talk about it. D. I need your help.
7. ― My cat is ill. She won’t eat anything.
― ________________.
A. You’d better go to the clinic. B. Why not get something to eat?
C. I would go on diet if I were you. D. You should take her to the vet.
8. ― Oh, goodness! I haven’t got any money on me!
― ________________.
A. Keep the change please. B. Let me lend you some.
C. Sorry, I haven’t got one. D. It’s good to save some money.
9. ― Would you mind if we asked you for some advice?
― ________________.
A. Thank you so much. B. Er. What can I do for you? C. That’s all right. D. Yes. Please go ahead.
10. ― I hope I am not interrupting your work.
― ________________.
A. It’s hard to say. B. O.K. Let’s start again. C. Please go on with your work.?D.Oh,that’s all right.

第二部分：阅读理解（共20小题；每小题2分，满分40分）
此部分共有4篇短文，每篇短文后有5个问题，每个问题后有4个选项，请你从A、B、C、D四个选项中，选出可以填入空白处的最佳选项，并用铅笔将答题卡上的相应字母涂黑。示例[A] [B] [▆] [D]
Passage 1
A farmer had once made a purchase of a fine fat sheep, hoping to offer it up to the Buddha. While he was leading it home, four thieves saw him and made up their minds to steal the sheep. They knew him to be an honest person and one who thought of no more harm in others than he had in himself. They dared not take the sheep away from him by force, for they were too near the city. Therefore, they thought hard and got an idea: they first parted company and then came to the man as if they had come from several distinct parts.
The first thief came up to the farm and said, “My good old man, why are you leading this dog?”
At this moment the second thief, coming from another direction, cried to him, “ Poor old man, where have you stolen this dog?” And immediately after these words, the third thief came up and asked the farmer, “Where are you going with this handsome greyhound?”
The poor farmer began to doubt whether the sheep was a sheep or not. But the fourth robber put him quite beside himself by coming near him and asking what the dog cost him.
The farmer began to think and got the conclusion that the four men, who came from different directions, could not all be wrong. He believed that the sheep he was leading was a dog. On realizing this, the farmer went back quickly to the market to demand his money of the person who sold him the dog, leaving the dog with the four thieves.

1.The farmer _________________.
A. bought a sheep in the city B. bought a sheep in the market
C. led a sheep to the market to sell C. stole a sheep in the city
12. The four thieves decided to play a trick to get the sleep because _________________.
A. the farmer had never been to the city
B. the farmer was honest and would be easily cheated by their tricks
C. the farmer was narrow-minded
D. the farmer was stupid
13. The farmer began to have a doubt when the _________________ thief called his sheep a dog.
A. first B. second C. third D. fourth
14. Which of the following statements is true according to the passage?
A. The animal was really a dog
B. The four thieves knew about the farmer
C. The four thieves had tried to rob the farmer but failed
D. The farmer was sure that he had bought a sheep
15. What can be concluded from the story is __________________.
A. don’t try to buy a sheep as an offering to the Buddha
B. if there were four persons saying it was a sheep, it was certainly a sheep
C. the farmer was really cheated by the four thieves
D. the farmer saw through the thieves’ tricks

Passage 2
Prior to modern times, Western Europe was an underdeveloped rather than a developed region. In the eleventh century China was producing two and a half times as much iron as did England and Wales together in 1640. By the twelfth century several Chinese cities had a population equal to that of the whole contemporary England --- about 1.3 million people. When the Westerners began their attack of Constantinople in 1203, they were full of respects for those high walls, those mighty towers, those rich palaces and churches, of which there were so many that no man could believe it if he had not seen them with their own eyes.
In modern times the situation was changed, thanks in large part to the profits from overseas trade and colonies, and to the settlement in new continents. Therefore, ninety percent of the world’s total industrial output comes today from European origin. About two-thirds of the world’s people are earning about $200 per capita every year, while the remaining one-third enjoy per capita incomes as high as $2,400 in the case of the United States.

16. In the 11th century China was ___________________.
A. more underdeveloped than Western Europe.
B. more advanced in technology than England
C. as developed as Western Europe
D. producing as much iron as Western Europe
17. Constantinople was __________________.
A. a part of Western Europe B. part of China
C. quite rich and prosperous D. was a city with a population of 1.3 million
18. Europe became much more developed in modern times mainly by __________________.
A. attacking Constantinople
B. making profits from foreign trade and their colonies
C. learned from the developed parts of the world and improved its technology
D. having its people form the idea of working hard
19. It can NOT be concluded from the passage that ____________________.
A. several Chinese cities altogether had a total population of 1.3 million
B. westerners admired Constantinople for its marvelous buildings
C. Constantinople was much more developed than the invaders’ hometown
D. Americans have much higher salaries than two-thirds of the world’s people
20. Which of the following is true according to the passage?
A. Four-fifths of the world’s products come from Europe.
B. Ninety percent of the world’s industrial output is from Europe
C. Europe began to develop when they attacked Constantinople
D. Westerners set up colonies after they became rich

Passage 3
The body of an animal may well be compared with some machine like a locomotive engine. Indeed, the animal body is a machine. It is a machine composed of many parts doing some particular kind of work for which a particular kind of structure fits it. All the parts are dependent on each other and work together for the accomplishment of the total business of the machine. The locomotive must be provided with fuel, such as coal or wood or other combustible substance, the consumption of which provides the force or energy of the machine. The animal body must be provided wit fuel, which is called food, which similarly provides the energy of the animal. Oxygen must be provided for the combustion of the fuel in the locomotive and of the food in the body. The locomotive is composed of special parts: the fire box for the storage and combustion of fuel; the steam pipes for the carriage of steam; the wheels for locomotion; the chimney for throwing off waste. The animal body is similarly composed of such parts as the stomach for the storage and digestion of food, the organs for the throwing off of waste water, the blood vessels for the carriage of oxygen and food-holding blood, the legs or wings for locomotion.

21. The body of an animal is like a locomotive in that ___________________.
A. it is composed of many parts that work just like different parts of a locomotive
B. it can do some particular kind of work
C. it works like all the machines in the world
D. both the animal and the locomotive need coal or wood as their fuel
22. Every part of the animal body __________________.
A. works independently B. works dependently on each other
C. looks like the same as that of a machine D. has the same structure as that a machine
23. The energy of an animal is provided by ____________________.
A. throwing off waste B. the combustion of fuels such as coal or wood
C. consumption of food D. the carriage of blood
24. The function of the animal’s legs is like __________________ of a machine.
A. the wheels B. chimney C. steam pipes D. the fire box
25. The steam pipes of a locomotive work like the __________________ of an animal body.
A. stomach B. blood vessels C. legs D. wings

Passage 4
I once amused myself by asking persons on the street, in stores and on street cars what they most desired out of life. This was before the polls of Mr. Gallup or of the inquiring reporter. I expected those questioned to place foremost good health. But they did not. Neither did they say salvation or life after death. Quite differently, their first wish was more money to spend.Secondly, they wanted more happiness out of life.
These may not be the answers I thought they ought to give, but they appeared to be sincere and honest answers. Who does not want happiness,or more money to spend?As these seem to be almost universal desires they merit consideration. So, since taking this poll I have from time to time speculated on what social science might do to bring about these desiderata.
Our first question is: What is the promise of social science in regard to the standard of living? After examining that, we can consider what social science promises in regard to happiness.
The outlook for a higher plane of living for all of us here in the United States is very good indeed. The wealth we probably will have, however, will not be wholly an achievement of social science; it will be the result also of natural science. For we must have tools as well as markets to produce wealth.

16. Before interviewing people on the street, the author had hoped that _____________________.
A. people would put good health in the first place
B. people would think salvation most important
C. people wished to have an after-life first
D. people’s first wish was spending more money
17. The author did the research _____________________________.
A. in order to write a report B. just for fun C. so as to finish his work D. to make more money
18. According to the author’s poll, people’s first expectation was __________________________.
A. enjoy happiness from life B. having good health C. salvation D. having more money to spend
19. The result of the poll makes the author think about _____________________________.
A. the philosophy of life
B. social science’s role in improving the standard of living
C. natural science’s bit in increasing people’s income
D. whether it was right to put money in the first place
20. The author’s conclusion about a higher standard of living is _________________________.
A. social science is the only factor to improve the standard of living
B. natural science is the only factor improve the standard of living
C. both social science and natural science should play their respective roles in the realization of it.
D. tools are more important than markets to improve the standard of living

第三部分：词汇与结构（共25小题；每小题1分，满分25分）
第一节：此小节共有15个未完成的句子，针对每个句子中未完成的部分有4个选项，请你从A、B、C、D四个选项中，选出可以填入空白处的最佳选项，并用铅笔将答题卡上的相应字母涂黑。示例[A] [B] [C] [D]。
31. The bus came after I _______ for about half an hour.
A. had been waited B. was waiting C. have waited D. had been waiting
32. You ______ the day before yesterday if you really thought this was very important.
A. ought to come B. ought have come C. ought to have comeD. ought to be coming
33. I tried to ______ to him for the error I made in my work but he didn’t listen to me at all.
A. excuse B. spare C. apologize D. pardon
34. Power stations employ ______ water to produce electricity.
A. fallen B. falling C. filling D. filled
35. I had intended ______ him while he was in trouble during those years, but I couldn’t get in touch with him.
A. to help B. helping C. to have helped D. having helped
36. ______ from space, our earth, 70 percent of its surface covered with water, looks like a blue planet.
A. Seen B. To be seen C. Seeing D. Having seen
37. ______ having made much effort, he still failed to win the contest. What a pity!
A. although B. against C. Despite D. with
38. A large number of people ______ present at the meeting, which was out of our expectation.
A. was B. were C. have D. has
39. He left in ______ hurry that he forgot to tell us where he was going.
A. so hurry B. quite C. so a hurry D. such a
40. All of the Browns’ children have been well _______. They have very good manners.
A. brought up B. brought about C. brought in D. brought out
41. Mr. Smith is a ______ old man. We all respect and like him very much.
A. respectful B. respectable C. respective D. respect
42. Our department _______ courses in several foreign languages, including required ones and optional ones.
A. accepts B. takes C. considers D. offers
43. If I had time, I _______ that new movie at the cinema.
A. would see B. will see C. had seen D. will have seen
44. However _______ his remarks were, I should not have shouted at him.
A. amusing B. impolite C. disinteresting D. suitable
45. He has been ______ for nearly three weeks after the death of his dear pet.
A. sad B. satisfied C. evil D. joyful

第二节：此小节的短文中共有10个空白处，针对每个空白处的4个选项，请你从A、B、C、D四个选项中，选出可以填入空白处的最佳选项，并用铅笔将答题卡上的相应字母涂黑。示例 [A] [B][ C][▆]。
Smoking, which may be a pleasure for some people, is a serious source of discomfort for their fellows. Further, medical authorities express their46about the effect of smoking 47 the health not only of those who smoke but also of those who do not. In fact, nonsmokers who must48inhale the air polluted by tobacco smoke may49more than the smokers themselves.
As you are doubtless 50,a considerable number of our students have joined in an effort to51the university to ban smoking in the classrooms. I believe they are entirely right in their aim.52, I would hope that it is 53to achieve this by calling on the smokers to use good judgment and show concern 54others rather than by regulation.
I am therefore asking you to maintain No Smoking in the classrooms, seminar rooms and auditoriums. This will prove that you have the non-smokers’ health and well-being55, which is very important to a large number of our students.

46. A. concern B.trouble C.interest D.displeasure
47. A.on B.in C.with D.to
48. A.passively B. instinctively C.collectively D.hopefully
49. A.endure B.suffer C.undergo D.experience
50. A.alert B.awake C.aware D.informed
51. A.tell B.make C.persuade D.cause
52. A.Therefore B.However C.Further D Moreover
53. A. impossible B.wonderful C.incapable D.practical
54. A. with B.for C.to D.in
55. A. on mind B.in heart C.in mind D.on your mind

第四部分：, , 写作（满分15分）
要求你在30分钟内，根据下面所给的题目用英语写出一篇不少于80词的短文。
How I Spend My Spare Time

参考答案：
Part I Use of English (20 points, 2 points for each item)
1-5 ABDDB 6-10 ADBBD

Part II Reading Comprehension (40 points, 2 points for each item)
11-15 BBCBC 16-20 BCBAB 21-25 ABCAB 26-30 ABDBC

Part III Vocabulary and Structure (25 points, 1 point for each item)
Section A
31-35 DCCBA 36-40 AABDA 41-45 BDABA

Section B
46-50 AAABC 51-55 CADAC

Part IV Writing (15 points)
作文评分标准
评分原则是在整体评阅的基础上给出印象分，此印象分以奖励给分，不是按错扣分。
评分按档次进行，即1-3分。4-6分，7-9分，10-12分，13-15分五个档次。各个档次的具体描述如下：
13-15分：扣题，语言流畅，用词丰富，篇章结构感强，语法正确，只有个别小错误。
10-12分：扣题，语言流畅，用词较丰富，段与段之间有较好的过渡，语法基本正确，有些语法错误。
7-9分：基本扣题，语言基本正确，用词有一定变化，文中错误较多，有个别较为严重错误。
4-6分：语言基本功差，文章中中国式英语表达居多，用词贫乏，语法错误较多，有多处严重错误。
1-3分： 语言支离破碎，绝大部分句子无法理解，语言错误较多

 大学英语B模拟二
第一部分：英语知识运用（共10小题；每小题2分，满分20分）
此部分共有10个未完成的对话，针对每个对话中未完成的部分有4个选项，请你从A、B、C、D四个选项中，选出可以填入空白处的最佳选项，并用铅笔将答题卡上的相应字母涂黑。示例[A] [B] [C] [D]
1.― Pleased to meet you!
― ________________.
A. Pleased meeting you too.B. How do you do? C. I’ve heard about you.D. The pleasure is mine
2.― It’s getting late. I have to go now.
― ________________.
A. I have a meeting now.B. I’m happy you will leave
C. I’m quite in a hurry.D. We’re sorry you have to leave
3. ― I’d like to check in for the flight to New York.
― ________________.
A. Fine. Do you have your ticket and passport? B. There is nonstop flights to New York.
B. I am very busy now. D.How long will you be in New York?
4. ― Hi, my name is Peter Brown.
― ________________.
A. Me, too. B. Thank you very much C. Hello. D. Here you are.
5. ― What a beautiful dress you’ve got!
― ________________.
A. I agree with you. B. That’s all right. C. That’s great. D. Oh, thank you
6. ― Excuse me, where is the nearest telephone?
― ________________.
A. I can’t find out one. B. There is one at the drugstore.
C.? About half an hour. D. Take Highway 15 to the north.
7. ― Hello. How are things?
― ________________.
A. They are too expensive. B. I’m not doing anything right now.
C. Oh, not so bad D. it’s interesting, isn’t it?
8. ― What am I going to do? I failed all the exams.
― ________________.
A. Come on! It’ll be OK. Try again next term B. Oh, really? Are you mad?
C. That’s great. How nice! D. I am not going to take the exam.
9. ― Excuse me, I’m afraid you’ve overcharged me.
― ________________.
A. Oh, really? B. That’s all right. C. That’s fine.D. You’re welcome.
10. ― Do you mind if I sit here?
― ________________.
A. No, it’s already occupied.B. No. Take a seat please.C. Don’t mention it.D. Yes. I am busy.

第二部分：阅读理解（共20小题；每小题2分，满分40分）
此部分共有4篇短文，每篇短文后有5个问题，每个问题后有4个选项，请你从A、B、C、D四个选项中，选出可以填入空白处的最佳选项，并用铅笔将答题卡上的相应字母涂黑。示例[A] [B] [C] [D]
Passage 1

The march to Italy was begun. The soldiers were even more enthusiastic that Caesar himself. They climbed mountains, crossed rivers and faced all kinds of danger for the sake of their great leader.
At last they came to a little river called Rubicon. It was the boundary line of Caesar’s province of Gaul. On the other bank of it was Italy. Caesar paused a moment on the bank. He knew that to cross it would be to declare war against Pompey? and the Roman Senate(罗马议会). It would involve all Rome in a fearful war, the end of which no man could tell.
But he did not hesitate long. He gave the word and rode across the shallow stream.
“We have crossed the Rubicon,” he cried as he reached the shore. “There is no turning back.”
Soon the news was carried to Rome: “Caesar has crossed the Rubicon,” and there was great worry among those who had wanted to destroy him. Pompey’s soldiers ran away to join Caesar’s army. The Roman officials and their friends made ready to flee from the city.
“Caesar has crossed the Rubicon!” was shouted along the roads to Rome and the country people came out to welcome Caesar and his men.
The word was carried a second time to the city: “Caesar has crossed the Rubicon,” and the wild flight began. Public officers had left everything behind and hurried away to seek safety with Pompey. Pompey was unable to protect them. He hurried to the seacoast and with all who were able to accompany him sailed away to Greece.
Caesar was the master of Rome.

The aim of the march to Italy was ___________________.
A. to visit Roman Senate B. to see Pompey C. to conquer Italy D. to declare war against Pompey
12. The dividing line between the province of Gaul and Italy was ___________________.
A. the city of Rome B. Rubicon C. mountains D. not mentioned in the passage
13. Caesar’s crossing the river of Rubicon with his soldiers meant that ____________________.
A. he was the master of Rome
B. he wanted to fight against Pompey and the Roman Senate
C. He wanted Pompey’s soldiers to surrender
D. He wanted to show his great power
14. Pompey and the Roman officials ____________________.
A. were highly respected by the people B. were confident about defeating Caesar
C. were afraid of Caesar and his army D. all ran away to Greece successfully
15. Which of the following statements is true according to the passage?
A. Caesar knew before crossing Rubicon that he would definitely win the war
B. Caesar made up his mind to defeat Pompey after he crossed Rubicon
C. Pompey’s soldiers fought bravely but were finally defeated
D. The country people of Italy didn’t like Caesar and his army

Passage 2
Believe it or not, the Swiss were once a warlike people. There is still evidence of this. To this day, the guards at the Vatican are Swiss. But the Swiss discovered long ago that constant warfare brought them nothing but suffering and poverty. They adopted a policy of neutrality. While the rest of the world were involved in the War, Switzerland, a country with hardly any natural resources, enjoyed peace. The rest of the world is still not ready to accept this simple and obvious solution. Most countries not only maintain permanent armies but also require all their young men do a period of military service.
Admittedly, some countries, like Britain, have given up peace-time conscription （征召士兵）. Unfortunately, they haven’t done so for idealistic reasons, but from a simple recognition of the fact that modern warfare is a highly professional business. In the old days large armies were essential. There was strength in numbers. But in the modern times of push-button warfare, unskilled manpower has become unnecessary. In mere two years or so, you can’t hope to train new soldiers to fight in a war. So why bother? Why not leave it to the professionals?

16. The fact that the guards at the Vatican are Swiss shows that ________________ according to the first paragraph.
A. the Swiss do not really like war B. the past bravery of the Swiss in wars
B. they hope there will be no wars D. how brave they are
17. Britain has given up peace-time conscription because _________________.
A. it holds that there will not be so many wars
B. it has already had too many soldiers
C. it hopes to adopt a policy of neutrality if there is a war
D. it has trained professional soldiers to fight in modern wars and doesn’t need unskilled new soldiers
18. The Swiss adopted a policy of neutrality because ___________________.
A. they didn’t have rich natural resources
B. wars only brought suffering and poverty
C. they needed to retrain their soldiers
D. the guards at Vatican were Swiss
19. Modern warfare___________________.
A. means a competition of strength in the number of soldiers
B. needs large armies
C. doesn’t need unskilled soldiers
D. requires a country to train its new soldiers in a short time
20. Which of the following statements is true according to the passage?
A. Switzerland was the only country to keep neutral in wars
B. Some countries have decided to adopt the policy of neutrality
C. all the other countries except Switzerland require their young men to do military service of two years
D. Some countries have given up conscription because they will not be involved in wars

Passage 3
Large modern cities are too big to control. They impose their own living conditions on the people who live in them. City-dwellers have to adopt an unnatural way of life. They lose touch with the land and the rhythm of natureso that they are hardly conscious of the seasons.
A few flowers in a public park may remind people that it is spring or summer and a few leaves on the roadside may remind them that it is autumn. Beyond that, what is going on in nature seems totally unrelated to them. All the simple, good things of life, such as sunshine and fresh air are far away. Tall buildings blot out the sun, and waste gases from cars pollute the air. Even the distinction between day and night is lost. In the night, it is almost as bright and noisy as it is in the day and people are busy with what they hope to deal with.
The funny thing about it all is that city-dwellers pay dearly for living in the city. The prices for houses are so high that it is often impossible for ordinary people to buy a house of their own. High rents must be paid for small flats which even country hens would dislike to live in. Moreover, the cost of living is very high. Everything you buy is likely to be more expensive than it would be in the country.

21. It can be seen from the passage that the author ___________________.
A. likes city life B. doesn’t like living in the city
C. has to live in the city D. will move out of the city
22. According to the 1st paragraph, city-dwellers __________________.
A. don’t have a natural way of life
B. don’t know what is summer or winter
C. can’t see and touch the real soil and land
D. have no seasons in their life
23. “the rhythm of nature” in the 1st paragraph refers to __________________.
A. the change of seasons B. sunny days and rainy days
C. day and night D. the coming of spring
24. Which of the following statements is true according to Paragraph 2?
A. People living in cities can’t enjoy fresh air and sunshine
B. People living in cities can’t see the sun
C. City-dwellers don’t know when it’s day or night
D. City-dwellers don’t know what season they are in
25. Which of the following statements can not be inferred from the passage?
A. the author loves nature and hopes to be close to it
B. generally speaking, a farmer will pay less for his living in the countryside than a city-dweller.
C. It’s difficult for ordinary people to buy houses in the city
D. It’s difficult to rent houses in the city because there are no houses to be rent.

Passage 4
Washing Irving has been called North America’s first professional writer. He was born in 1783, the year when the American Revolution ended; and he lived to become the first author from the United States to win international fame.
When Washing Irving was a child, there were still reminders of Indian life and Dutch colonization in his native city, New York. It is interesting to note that Irving’s first work --- perhaps his greatest work --- was a humorous account of his native town. Irving called it “A History of New York,” and credited it to a certain Dutch historian named Diedrich Knickerbocker.
This early work was a promising beginning for Washington Irving. It enabled the young author to visit Europe, which influenced him as it has influenced many later American writers, from Longfellow to Hemingway. There, under the guidance of such famous men of literature as Sir Walter Scott and W. M. Thackeray, Irving broadened his view of life. He became far more than the recorder of his local scene.
In Europe, Irving wrote about English and English ways. But he did not forget his Hudson River Valley years. He wrote such stories as “Rip Van Winkle” and “The Legend of Sleepy Hollow” while still on foreign soil.
The visit to Europe was not to be Irving’s last. On a later occasion, he went abroad and remained for seventeen years. Still later, after American experiences which he described in such accounts as “A Tour on the Prairies,” he went to Europe again, as his government’s Minister to Spain. “The Rose of the Alhambra,” which appears in this book, represents the writings of Irving’s Spanish years.

26. Which of the following statements is true about Washington Irving?
A. He won international fame in 1783
B. He did not participate the American Revolution
C. His visit to Europe influenced him a lot in writing “A History of New York”
D.“Rip Van Winkle” is a story from “A History of New York”
27. Washington Irving’s first work was about ___________________.
A. Indian life and Dutch colonization before American Revolution
B. the American Revolution
C. a Dutch historian named Diedrich Knickerbocker
D. the legend of sleepy Hollow
28. Washington Irving’s first visit to Europe ____________________.
A. made him famous
B. provided him opportunities to learn from famous writers there
C. established his place as a loyal recorder of his local scene in America
D. gave him a chance to know Longfellow and Hemingway
29. Both “Rip Van Winkle” and “The Legend of Sleepy Hollow” were written ____________________.
A. in America B.? in Europe C. in Hudson River Valley D. on the way to Europe
30 This passage is taken from _____________________.
A. a letter by Washington Irving B. a part of the life story of Washing Irving
C. preface to a book by Washington Irving D. a news report in a newspaper

第三部分：词汇与结构（共25小题；每小题1分，满分25分）
第一节：此小节共有15个未完成的句子，针对每个句子中未完成的部分有4个选项，请你从A、B、C、D四个选项中，选出可以填入空白处的最佳选项，并用铅笔将答题卡上的相应字母涂黑。示例[A] [B] [C] [D]。
31. She can’t ______ seeing children treated cruelly and called the police.
A. put up with B. make up for C. pay attention D. keep up with
32. His smile ______ that the students have had his forgiveness.
A. applied B. suggested C. prohibited D. experienced
33. Our suggestion is that he should leave here at once, but he doesn’t ______ to it.
A. accept B. receive C. admit D. agree
34. I had opened the door ______ he had time to knock.
A. before B. until C. where D. as
35. Bill was unhappy about Mary’s absence for the meeting. ________.
A.I was neither B.I wasn’t either C. Neither was I D. either was I
36. It was ______ that a hundred people looked lost in it.
A. a such large room B.such large a room C. so a large room D. so large a room
37. Staying in a hotel costs _______ renting a room in a dormitory for week. But it’s much quieter in the hotel
A.three times more than B.three times as much as
C.as three times as D.as much as three times
38. A solemn ceremony was held in _______ of the soldiers who lost their lives in the battle.
A. behalf B. honor C. respect D. virtue
39．He is an easy-going person and _______ with everyone very well.
A.gets around B.gets in C.gets to D.gets along
40. I really appreciate _______ to help me, but I think I can manage the situation by myself for the time being.
A.your offering B.you to offer C.that your offer D.that you are offering
41. _______ that he had won the first prize in the competition, I called to congratulate him on his success.
A.To have heard B. Being heard C. Having been heard D. Having heard
42. She didn’t know whether to continue her study here in the college or _______.
A.to go abroad B.if she would go abroad C.going D.went abroad
43. This room ______ cool in summer and warm in winter. It’s quite comfortable to live here.
A.feels B.is felt C.finds D.is founded
44. I told him that I ______ my homework when she came back home.
A.have finished B.finished C.had been finished D.had finished
45. I have decided to cancel the trip to Europe ______ the fact that I have been looking forward to touring European countries for many years
A.in case of B.because of C.as a result of D.in spite of

第二节：此小节的短文中共有10个空白处，针对每个空白处的4个选项，请你从A、B、C、D四个选项中，选出可以填入空白处的最佳选项，并用铅笔将答题卡上的相应字母涂黑。示例 [A] [B][C][D]。
The making of glass is a very old industry ---464,500 years old. Glass has many extraordinary47and it is frequently being used in new ways.
One of the most interesting new uses for glass is in telephone communication. Scientists have48?glass fibres as thin as human hair49are designed to carry light signals. When the light ??50 ??the other end, it is first changed into electrical signals which are in turn51into sound messages.
Called light-wave communication, the new system was used successfully in an experiment in Chicago in 1977. During the experiment, two glass fibres were able to carry 672 conversations at the same time. The light-wave cable, containing 144 glass fibras, has the52to carry 50,000 conversations at the same time.
The light-wave communication systems has two important53. First, the glass fibre cables are54and weigh less than copper cables. Second, they cost less.
Perhaps it can be said that telephone communication has entered the55of light!

46. A.at most B. at least C.in large D.in short
47. A.qualities B. personalities C.inventions D.constructions
48. A.found B.discovered C.developed D. investigated
49. A.which B.when C.where D.what
50. A.arrives B. gets C. reaches D. falls
51. A.accounted B.encountered C.converted D.removed
52. A.authority B.convention C.strength D.capacity
53. A.wealth B. advantages C.rewards D.admiration
54. A.larger B.less C.smaller D.fewer
55. A.age B.year C.century D.millennium

第四部分：写作（满分15分）
要求你在30分钟内，根据下面所给的题目用英语写出一篇不少于80词的短文。
Happy Things in My Childhood

参考答案：
Part I Use of English (20 points, 2 points for each item)
1-5 DDACD 6-10 BCAAB

Part II Reading Comprehension (40 points, 2 points for each item)
11-15 CBBCB 16-20 BDBCA 21-25 BAAAD 26-30 BABBC

Part III Vocabulary and Structure (25 points, 1 point for each item)
Section A
31-35 ABDAC 36-40 DBBDA 41-45 DAADD

Section B
46-50 BACAC 51-55 CDBCA

Part IV Writing (15 points)
作文评分标准
评分原则是在整体评阅的基础上给出印象分，此印象分以奖励给分，不是按错扣分。
评分按档次进行，即1-3分。4-6分，7-9分，10-12分，13-15分五个档次。各个档次的具体描述如下：
13-15分：扣题，语言流畅，用词丰富，篇章结构感强，语法正确，只有个别小错误。
10-12分：扣题，语言流畅，用词较丰富，段与段之间有较好的过渡，语法基本正确，有些语法错误。
7-9分：基本扣题，语言基本正确，用词有一定变化，文中错误较多，有个别较为严重错误。
4-6分：语言基本功差，文章中中国式英语表达居多，用词贫乏，语法错误较多，有多处严重错误。

1-3分： 语言支离破碎，绝大部分句子无法理解，语言错误较多


